



Navn: \_\_\_\_\_

Dato: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right)^{(-2)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$



Navn: \_\_\_\_\_

Dato: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{4}\right) = \frac{73}{36} = 2\frac{1}{36}$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{3}\right) = \left(-\frac{5}{3}\right) = \left(-1\frac{2}{3}\right)$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{2}\right) = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{6} = \frac{35}{48}$$

$$\left(\frac{1}{4}\right)^{(-2)} - \left(-\frac{1}{6}\right) = \frac{97}{6} = 16\frac{1}{6}$$

$$\left(\frac{2}{5}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \frac{13}{4} = 3\frac{1}{4}$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{1}{6} = \frac{97}{6} = 16\frac{1}{6}$$

$$\left(\frac{3}{4}\right)^2 - \frac{2}{5} = \frac{13}{80}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{4} = \frac{13}{16}$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{11}{80}\right)$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{3}\right) = \left(-\frac{7}{3}\right) = \left(-2\frac{1}{3}\right)$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{1}{3} = \frac{13}{3} = 4\frac{1}{3}$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{1}{5}\right) = \left(-\frac{26}{5}\right) = \left(-5\frac{1}{5}\right)$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{3} = \frac{19}{48}$$

$$\left(-\frac{1}{6}\right)^{(-2)} + \left(-\frac{3}{5}\right) = \frac{177}{5} = 35\frac{2}{5}$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{2} = \frac{1}{16}$$

$$\left(\frac{1}{5}\right)^{(-1)} + \left(-\frac{3}{5}\right) = \frac{22}{5} = 4\frac{2}{5}$$

$$\left(\frac{1}{4}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{31}{2} = 15\frac{1}{2}$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{23}{18} = 1\frac{5}{18}$$